
�����������������������������

����������
�����������������������������������������������������������������������

� = �����������������[�����������[��������[��������������]]]

���������

μ = �[�����������������[�����������[��������[��������������������]]]]

������� × ��-�

ϵ = �[�����������������[�����������[��������[��������������������]]]]

������� × ��-��

�����������������

η =
μ

ϵ

������

◼ �������������������������������
Problem : Design a simple cavity of the "Pillbox" type with the following 

parameters :

frequency :

λ = ����

� =
�

λ

������� × ���

ω = � π �

������� × ���

���������������[%]

������� × ���

���������������������

σ�� = ��� × ���

��� × ���

�������������������������������������



δ =
�

ω σ�� μ

������� × ��-�

�������������

� = ����

���������
�������������������������������������

cavity radius a

�������������������������������������������

μ� = ��

ϵ� = ��

� = ��

� = ��

� = ��

� = �

���� = �������������
�

� π μ� ϵ�

�����������[�� �]

�

�

+
� π

�

�

� � > ��

�������������������������������������

�[�����������[�� �]]

�������

����������������

���� = %%

������� × ���

�

λ� =
�

����

������� �

����������������

������ = �����[λ == %� �]

{{� → �������}}

������[[�]]

{� → �������}

� ��� ��������������



� /� ������[[�]]

�������

� = % λ

�������

����������������

�����������������������

� =
�

δ
� +

�

�

-�

�������

����������������

���������������������������������������������������������������

�������[�� �[�����������[�� �]]]

��������

�������������

������ =

� η

�����������[�� �]� π �������[�� �[�����������[�� �]]]�

��� �����������[�� �]
�

�
�

�

�
�

�������

��������������

������������ = ���
�

�

�������

����������������

��������������������≈����������������������

��� (� - ������ / ������������)

�������

Is the cavity completely determined?

���������������������������������������������������������������������

���������������������������������������������������������

������� = ������������ �

������� × ���

������� =
������������

ω

������� × ��-�

���������������[%]

������� × ��-�

������������� � ����



������� =
�

������������ ω

������� × ��-��

������ = ������ �

������� × ���

������ =
������

ω

������� × ��-�

���������������[%]

������� × ��-�

������ =
�

������ ω

������� × ��-��

�������������������

�����������������������������������������������������

Δ� =
�

�

�������

����������������

������������������������������������������������������������

� = ��� × ����

� =
��

� ������

�������

����������������

�����������������������������������������������������������������

������������

�� = ���

Determine:

the peak voltage at the cavity input.

����� = � �� �

�������

� ��� ��������������



the neccessary transformer ratio k of the input coupler.

� =
������

��

�������

����������������

◼ ���������������������������������������Ω
������������������������������������������������������������������������������������������������
����������������������������������������������������

����

� + ��

�
�������������������

����

� - ��

�
��������������������

���������
�������������Ω����������������������������������������������������

���������������������������������������������������������∠�°�������

����∠��°

Calculate the corresponding volage V and current I.

� = ����

� = �[���������[�� ���[� �� ������]]]

������� + ������� ⅈ

� = � + �

������� + ������� ⅈ

{���[�]� ���[�] / ������}

{�������� �������}

� = ���

� =
� - �

�

������� - �������� ⅈ

���[�]� ���[�]  ������

{�������� -�������}

� �

������� - ������� ⅈ

������������� � ����



���[� �]� ���[� �]  ������

{�������� -�������}

��������[

{{����� �����[{{�� �}� {��[�]� �}}]}� {����� �����[{{�� �}� {��[�]� ��[�]}}]}�

{����� ������� �����[{{��[�]� �}� {��[� + �]� ��[� + �]}}]}�

{�������� ������ �����[{{�� �}� {��[� + �]� ��[� + �]}}]}�

{����� ������� �����[{{��[�]� �}� {��[� - �]� ��[� - �]}}]}�

{���� ������ �����[{{�� �}� {��[� �]� ��[� �]}}]}}�

���� → ����� ����������� → ���������]

�� �� �� �� ��� ��� ���

-��

-��

��

��

���������������������������Ω�����������������������������∠�°�����

���������������������∠���°��������������

Calculate the corresponding foreward and backward waves a and b.

� = ����

� = �[���������[��� ���[-� �� ������]]]

�������� - �������� ⅈ

� =
� + � �

�

������� - ������� ⅈ

{���[�]� ���[�] / ������}

{�������� -�������}

� =
� - � �

�

������� + ������� ⅈ

{���[�]� ���[�] / ������}

{�������� �������}

� ��� ��������������



��������[{{����� �����[{{�� �}� {��[�]� �}}]}�

{����� �����[{{�� �}� {��[� �]� ��[� �]}}]}�

{����� ������� �����[{{��[�]� �}� {��[�] + ��[� �]� � + ��[� �]}}]}�

{����� ������� �����[{{��[�]� �}� {��[�] - ��[� �]� � - ��[� �]}}]}�

{�������� ������� �����[{{�� �}� {��[� �]� ��[� �]}}]}�

{�������� ������ �����[{{�� �}� {��[�]� ��[�]}}]}�

{���� ������ �����[{{��[�]� ��[�]}� {��[� + �]� ��[� + �]}}]}�

{���� ������� �����[{{��[�]� ��[�]}� {��[� - �]� ��[� - �]}}]}�

{���� ������� ������ �����[{{�� �}� {��[� �]� ��[� �]}}]}}�

���� → ����� ����������� → ���������]

�� �� �� �� ��� ���

-��

-��

-��

��

��

��

����������
Problem #1 to be treated as “CONTINOUS ASSESMENT”

◼ ������������������������������������������������������
Inductance:

� = ������ × ��-��

Capacitance:

� = ������ × ��-���

3-dB bandwidth:

Δ� = �� × ����

���������
Determine

�������������������������

���� =
�

� π

�

� �

������� × ���

����������������

������������� � ����



����������������������������������

������ =
�

�

����

����������������

����������������������

� =
����

Δ�

�������

����������������

��������������������τ

τ =
�

π ����

������ × ��-�

����������������

�������������������������������������������������������������������
��������������������������

� = ������ × ��-��

����� = ���� -
�

�


�������

����������������

����������������������������������μ�������������������������

� = �� × ��-��

���� = ����� ⅇ
-
�

τ

�������

����������������

◼ ����������������������������������������������
thermal expansion coefficient:

Δ������ = �� × ��-��

� ��� ��������������



thermal resistivity coefficient:

Δρ����ρ = � × ��-��

At room temperature the cavity resonates at a frequency

�� = ��� × ����

with a bandwidth of

Δ�� = ��� × ����

Under RF power, the cavity temperature is increased by

Δ� = ����

(subscripts 2 apply)

���������
Determine

������������λ� /λ�

�������������������������������������������������������������������λ�����������������������������
λ�
λ�

=
��
��

=�

�� (�+Δ�/� Δ�)

��
= � +

Δ�

�
Δ�

λ�����λ� = �[� + Δ������ Δ�]

�����

����������������

������������L� /L�

�����������������������������������������������������������
��
��

=
�/�

ω�

ω�

�/�
=

ω�

ω�
=

λ�
λ�

�������� = λ�����λ�

�����

������������������������

������������C� /C�

�����������������������������������������������������������
��

��
=

�

�/� ω�

�/� ω�

�
=

ω�

ω�
=

λ�
λ�

�������� = λ�����λ�

�����

������������������������

������������Q� /Q�

���������������������∝�

λ�
δ
�����������������������������δ�∝�

ρ

�
��������

������������� � ����



�����

��

��
=

����� λ�
δ�

δ�
����� λ�

=
λ�
λ�

δ�
δ�

=
λ�
λ�

ρ�
ρ�

��
��

=
λ�
λ�

ρ�
ρ�

λ�
λ�

=
ρ�
ρ�

λ�
λ�

ρ�����ρ� = �[(� + Δρ����ρ Δ�)]

���

�������� = ρ�����ρ� λ�����λ�

������

������������������������

��������������������������f��

��
��
=

λ�
λ�

�� =
��

λ�����λ�

������� × ���

���������������[%]

������� × ���

����������������Δ���

Δ�� =
��
��

����Δ�� =
��
��

��⟹�

Δ��
Δ��

=
��
��

��

��

Δ�� =
��

��

�

��������
Δ��

�������

���������������[%]

������� × ���

◼ ���������������������������������

���������
����������������������������������

��������[{{���� �����[{����� �}]� �����[{���� �}]� �����[{�� �}]� �����[{�� �}]�

�����[{��� �}]}� {����� �����[{���� �}]� �����[{���� ���}]�

�����[{���� �}]� �����[{���� ���}]� �����[{���� �}]� �����[{���� -���}]}}�

���� → ����� ����������� → ��������� ]

� �� �� ��
-���
-���

���
���
���
���

�� ��� ��������������



������������������������������������������

�������� ���������/���������� ����� � ������

���������/���������� � ���������/����������� �����

�
�
�
�
�
�
�
�
�
�
� �
� �
�

�
�
�
°

�
�
°

��
°

��
°

�� °

�� °

�� °

�� °�� °
��� °

���
°

��
� °

��
� °

��
�
°

��
�
°

�
�
�
°

�
�
�
°

�
�
�
°

�
-
�
�
°

-
�
�
°

-�
�
°

-�
�
°

-�
� °

-�
� °

-��
°

-�� °-�� °
-��� °

-��� °

-��� °

-��� °

-���
°

-
���

°

-
�
�
�
°

-
�
�
�
°

��������� ����������

��������

����������

���������

���

����

����

���

���

���

���

���

���

���
��� ��� �� ��� ���

���
���

���
��

���

��

��

��

��
��
��
���
���
���
���

-����

-����

-���

-���

-���

-���

-���

-���

-���
-��� -��� -�� -���-���

-���
-���

-���
-��

-���

-��

-��

-��

-��
-��
-��
-���
-���
-���
-���

∞��
�������� ��� ��� ��� ��� ��� ��� ��� ������ �������� ��� �������� ��� �� �� �� ������������������

�������� ��������� �� �� ������� ���� ��������� �� ��+������ ����
�� ��+������ ���� �����

����� ����� �� �������°
��� �� �����

���������

����������

����������

◼ �����������������������

����������������������������������������
The following parameters of a 100-MHz cavity have benn evaluated by a cavity 

desing program as a function of the gap width g:
R/Q (characteristic impedance), 
Q (quality factor)

� = ��� × ����

������������� � �����



The cavity is connected to an amplifier delivering a power of 1 kW

� = � × ����

The cavity beam has a relative velocity of

β = �����

���������
Calculate for each gap width:

�������������������

� = {���� ���� ���}�

������ = {���� ���� ���}�

� = {����� ����� ����}�

� = ������ �

{������� �������� �������}

���������������������������V��������������������

� = ��� × ����

���� = � � � � 

{�������� �������� �������}

����������������

��������������Θ�������������������������������

������������������������������������������������
� = β �� =

�

�

�����������������������
� =

�

β ��
=

�

β � λ

����������������������������������Θ����π�
����������Θ���������������������������������������π�����������������������

�π � � = �π
� �

β � λ
�⟹��π = Θ = �π

�

β λ
=

�π � �

β ��

Θ =
� π � �

β �

{�������� �������� �������}

�����������������������

����������������������������������������������������������Θ�
�ω

� β ��
=

�π � �

� β ��
=

Θ

�

�� ��� ��������������



� =
���[Θ / �]

(Θ / �)

{��������� ��������� ��������}

����������������

���������������V���������������������������������������������������
��������������������������

����� = ���� �

{�������� �������� �������}

�����������������������������������������������������������

������� � ���� � ��� �� � = ��� �� ����� ��� ������� ���� ������� ����� = ��� ��

����������������������������������������������������������������
�������������������������������������������������������������������
��������������������������������

��� ����

{�������� �������� �������}

����������� (@ ��� ���) = {~���� ��� ~� ��� ~��� ��}

��� ��� ��� �������������� ����� �� �� ������ �� � ������� ����������

��� ������ ������� �� ������ ���� ����� ��� ���������� ������

����������������

◼ �����������������������������������������
A RF cavity has an unwanted high-order mode (HOM) at

���� = ��� × ����

with a shunt impedance of

���� = � × ����

a 3-dB bandwidth of

Δ���� = �� × ����

and a trinsit time factor of

� = ��

The beam consists of very short bunches, following eachother at intervall of

������ = �� × ��-��

The circulating current is

����� = ����

������������� � �����



(Remember: I = charge per time)

���������
Calculate:

������������������������������������

���� =
����

Δ����

�����

����������������

������ =
����

����

���

���� = �
�

� π ���� ������


������� × ��-��

����������������

���������������������������������������

�������������������������������������

������ = ����� ������

�� × ��-�

Δ� =
������

����

������� × ���

����������������

��������������������τ��������������

τ = � ���� ����

������������

���������������[%]

������� × ��-�

����������������

��������������������������������������������������

���� ⅇ
-�/τ = ��������⟹���������� = Δ� ⅇ-�/τ

�� ��� ��������������



����� = Δ� ⅇ
-������/τ

�������

�����������������������������������������������������������������

������������������������������������������������������������������
�����������������������������������������������������

���� =
������

���� � - ⅇ-������/τ

������� × ���

◼ ����������������������������
A lossless low-pass filter is inserted between 50 Ohm load and 50 Ohm 

generator. The measured input impedance is shown below on a very 

rudimentary SMITH chart (only circles of constant magnitude of the reflection 

factor are shown). The arrows indicate the direction of increasing frequency.

���������
Determine:

�������������������������������������������P��
����������������������������P��������

�� ����� �� ��� ��������� �� ��� ���������� ����������� ����� �

���Γ = ����

�� � �������� ������ ���������� ������� �� ����� ��� �������

��� ������ ����� ������ ��� ����� ����� �
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